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Question No. 1

UF A5H & G Fof 60 §, WA 5 : 6 : 8 F T H TF 9T, 50 I 3 25 I« & s
ffer §1 256 B & RAarpl i dE&awr A1 A

A) 42 B) 48

C) 32 D) 30

A boy has a total of Rs.60 which is a sum of one rupee, 50 paise and 25 paise coins in the ratio
of 5: 6 : 8. Find the number of 25 paise coins.

A) 42 B) 48
C) 32 D) 30
Answer Key : B Your Response : Not Answered

Question No. 2

& IS BT #, ded, AU Bl GRT Hel dlel caidaal s oIwad aal b; TRysT,
arel calgddl & HwAd Hdl o] Hiawr &F 3d cdigddl Hl Head &idl &,




L2
] |

In the given figure. the circle represents people who visited Bhopal, triangle
represents people who visited Kochi, and square represents people who
visited Patna. Which region represents people who visited both Bhopal and
Kochi?

6
A) B)
4 1
o)) 5 D) 5
Answer Key : B Your Response : B (Correct)

Question No. 3
sirer &Y darer glar Bl

A) EEEH B) HTScIhifegaT
C) Urgeaiss Beell(Thylakoid membranes) D) dlfesiierrd

Blue green algae contains -

A) Lysosomes B) Mitochondria
C) Thylakoid membranes D) Golgibodies
Answer Key : C Your Response : B (Wrong)

Question No. 4

e, 9 IR FIAR f W e o § 99 85 87




A) AT B) 37U Ueer
C) 3raH D) BQr

Which of these states is bordered by Bhutan, China and Myanmar?

A) Manipur B) Arunachal Pradesh
C) Assam D) Tripura
Answer Key : B Your Response : B (Correct)

Question No. 5

faw =17 Reredl # @ 97 pia g4, S @ 4T 10 S QT e
arl

Y

A) B)

0 D)




Choose from the alternatives the figure that best completes the

H

pattern given below.

A) B)

0 | D)

Answer Key: A Your Response : A (Correct)

Question No. 6

Tl &l T fFauw R wtar §2
A) =9 & g B) =Teleh T #Hers
C) <meieh & Tary T Fepfd D) dTeish FI oETs

On what factors does the resistance of a conductor depend?

A) All the options B) Thickness of conductor
C) Nature of material of conductor D) Length of conductor
Answer Key: A Your Response : A (Correct)

Question No. 7

I +yY =93 x +y =3, a 'xy' F AT AT B

A) 6 B) 1



C) 2 D) 3

If x® + y* =9 and x + y = 3, then find the value of 'xy'.

A) 6 B) 1
C) 2 D) 3
Answer Key : C Your Response : Not Answered

Question No. 8

TIAIY] AR 8 ATl dcd T T HEAT iR MacT TE&AT, FA: gl
A) 6, 2 B) 4, 2
C) 16, 2 D) 16, 3

The group number and period number respectively of an element with atomic number 8 are-

A) 6,2 B) 4,2
C) 16,2 D) 16,3
Answer Key : C Your Response : C (Correct)

Question No. 9

SaR-ATeT gd(Tidal waves) & f&aT & el IR 37T (Fear 3R 3oRan) 87
A) ar 9 B) ol IR

C) TF aN D) 9N ar

How many times do the tidal waves build up and recede (rise and fall) in a day?

A) Twice B) Thrice
C) Once D) Four times
Answer Key : A Your Response : Not Answered

Question No. 10

frfaf@a F & Sl a1 o7 FAierRaT F WY TG AT 57

A) dodihr AR B) scd




C) 3made D) e

Which of the following properties changes with valency?

A) Equivalent weight B) Density
C) Volume D) Pressure
Answer Key : A Your Response : A (Correct)

Question No. 11

f=faf@a & ¢ =9 O 9k tafes iRt O g6 82

A) 3T d9A W ag $ AT A I & B) % A Gl A el
dR &l ITH LT

C) @ #r 3ufeufa # 3w [&eisy # 3fferdiioler D) arg &M gdlehon
g 1 sisROT

Which of the following processes is involved in chemical reactions?

A) Heating copper wire in the presence of air B) Melting of ice to give water
at high temperature

C) Storing of oxygen gas under pressure in a D) Liquefaction of air

gas cylinder
Answer Key : A Your Response : A (Correct)
Question No. 12
3 3R F RSTT SarT fFam ST B
A) HIFA ACE TATROT FHAHH B) UNESCO
C) 3 3R w33 D) favd T=uelig &Iy

Earth Hour is organized by-
A) United Nations Environment Programme B) UNESCO

C) Earth Hour Foundation D) World Wildlife Fund

Answer Key : D Your Response : Not Answered



Question No. 13

Y e a1v 3er fr wdaar @ & A O uiRa frar s oaswar gl
A) WE B) #&ATEA(mean) 3R AMCIFI(median) & 3R
C) Hleleh faelet D) sgefer(mode)

The consistency of a given data can be determined from the value of

A) The range B) Difference between mean and median
C) The standard deviation D) The mode
Answer Key : C Your Response : Not Answered

Question No. 14

ar el P 3R Q 3/hor 3/hel Tk & & 3RS F 60 e 30T 40 Ade =1 87 o9 §1 I
Q, T 3 &8¢ & v @er Jar § 3R Y 99 9T & AT gd o P & Qe Jrar §, ar
SH TH P A H hdeT AT 9m?

A) 48 fHee B) 36 f&sic
C) 32 fieTe D) 45 fAec

Two taps P and Q take 60 minutes and 40 minutes to fill a cistern separately. If tap Q is open
for the first half time and P alone is open for the remaining time, how long will it take to fill the

cistern?
A) 48 minutes B) 36 minutes
C) 32 minutes D) 45 minutes
Answer Key : A Your Response : Not Answered
Question No. 15
Soft T Qo &

8, 24, 12, 36, 18, 54, (..)
A) 108 B) 27

C) 72 D) 68



Complete the series.

8,24, 12, 36, 18, 54, (...)

A) 108 B) 27
C) 72 D) 68
Answer Key : B Your Response : B (Correct)

Question No. 16

T O T HR 2 FAT BSAT a1l T 4% W T AT 3l & BASAT arer 3refaner Sam g 3R
A HT FUS FEH BT F TN §1 TH 3 F I Al HifoC]

A) 4 s B) 6m a3
C) 8w a3 D) 2m @S

A solid is in the shape of a cone fitted on a hemisphere both with radii 2 cm and height of cone
being equal to its radius. What is the volume of this solid?

A) 41 cm3 B) 6mom?
C) 8memd D) 2mrem3
Answer Key : C Your Response : C (Correct)

Question No. 17

Ife 'L’ T Adeld '+ &, 'M' I Adeld V' §, 'N' FT HAderld X, 'P' H Adelw '+ §, aF 14 N 10 L
42P2M10 =7

A) 329 B) 243

C) 216 D) 151

If 'L' stands for '+, 'M' stands for -, 'N' stands for X', 'P' stands for +',then 14 N10L42P 2 M
10=7

A) 329 B) 243

C) 216 D) 151



Answer Key : D Your Response : D (Correct)

Question No. 18

Soft = [ K

39, 32, 25, 18, 11, (..
A) 9 B) 1

C) 7 D) 4

Complete the series.

39, 32, 25, 18, 11, (...)

A) 9 B) 1
C) 7 D) 4
Answer Key : D Your Response : D (Correct)

Question No. 19

oF aY dgel P 3R Q A 3g #T 39T 6: 5 U1l UK a¥ a6, Ig 3equrd 11: 10 g e P
I TAATT Y FAT 82

A) 18 a¥ B) 25 a¥
C) 20 a¥ D) 15 a¥

Six years ago the ratio of ages of P and Q was 6 : 5. Four years hence, it will be 11 : 10. What

is the age of P now?
A) 18 years B) 25 years
C) 20 years D) 15 years
Answer Key : A Your Response : A (Correct)

Question No. 20

T2 P T T = ™ = Enn e ¥ v Pt —mar 4An02 ¥ = o e = SO



A) %.1800 B) %.1250

C) %.1500 D) %.1750

If selling price is Rs.500 more than the cost price and the profit earned is 40%, then what is the

cost price?
A) Rs.1800 B) Rs.1250
C) Rs.1500 D) Rs.1750
Answer Key : B Your Response : B (Correct)

Question No. 21

39 WS #, o FYAl F 9 o sy e aw 1 39 Avwy @) @ g S aifee s @ wed
39gF &l

HYeT:
1) T& a5, e &l

2) & oM, 5% bl
sy
|. gaft srsfran, o &1

. $& o™, s g
A) Sael sy || 3UFd & B) e fsehy | 3ugeFd &
C) awt sy | 3R Il 3ugea gl D) & & forsens | & & Il 3ugerd B

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some boys are girls.
2) Some students are boys.



Conclusions:
l. All girls are students.
Il. Some students are girls.

A) Only conclusion Il follows B) Only conclusion | follows
C) Both conclusions | and Il follow D) Neither conclusion | nor Il follows
Answer Key : D Your Response : A (Wrong)

Question No. 22
ffaf@a & ¥ Fia @1 FF T 71 & 3T &7

A) SHoATSA B) SieliATSe
C) g#erse D) HRIeTSe

Which of the following is an ore of zinc?

A) Calamine B) Dolomite
C) Hematite D) Cryolite
Answer Key : A Your Response : B (Wrong)

Question No. 23

59 WReT #, o FYel &+ 9 o sy Gr aw §) 39 fAswy @) #@F g9 S aifee 9 @ wed
39gF &l

hYeT:
1) 3 ¢, 99 &l
2) wefr fafeean, ame €l

IGLCO R
. F& o, Rfeerr §)

I. F& &, g &

A) &ael foshy || 3UF g B) &l sy | 3R Il 3ugerd Bl



C) ad foshy | 3ugerd gl D) &r @ fsehy | & € 11 39ged gl

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some rats are tigers.
2) All cats are tigers.

Conclusions:
I. Some tigers are cats.
Il. Some tigers are rats.

A) Only conclusion Il follows B) Both conclusions | and Il follow
C) Only conclusion | follows D) Neither conclusion | nor |l follows
Answer Key : B Your Response : A (Wrong)

Question No. 24

o arv el & ¥ T @ g
A) 2, 8 B) 8, 130
C) 4, 32 D) 6, 72

Find the ODD one out from the given options.

A) 2,8 B) 8,130
C) 4,32 D) 6,72
Answer Key : B Your Response : B (Correct)

Question No. 25
2018 & USEHS Well T RASIT FHgl haT IR 2T?
A) #ART B) 3iteclerm

~

C) s9al3 D) &halrar

Where was the Commonwealth Games 2018 held?



A) India B) Australia
C) England D) Canada

Answer Key : B Your Response : B (Correct)

Question No. 26

ar 9139 T &F Hr HAM: 45 AR 30 e F W whA §| O WA 916 AR 9IS Fo§g W
fear ST 81 T gAY 95T q@rT &F # A A 13 AT 20 Qs R gl il 99 A
YBIT & Fheelr T dle; g foar arr ar?

A) 8.5 e B) 12 f&sic
C) 15 fAeTe D) 10 fase

Two pipes can fill a tank in 45 and 30 minutes respectively. After sometime the slower pipe was
closed. Then the tank was filled by the other pipe in 13 minutes 20 seconds. When was the
slower pipe closed after start?

A) 8.5 minutes B) 12 minutes
C) 15 minutes D) 10 minutes
Answer Key : D Your Response : Not Answered

Question No. 27

U fAREd FT A #, 'MASTER' & 'VIYZOX' for@r Siidar &, @ 'STREAM' &I & forar
SIRE?

A) YZXIOV B) YZOXIV

C) ZYXOIV D) YzZXOlV

In a certain code, 'MASTER' is coded as 'VIYZOX'. How is 'STREAM' coded?

A) YZXIOV B) YZOXIV
C) ZYXOIV D) YZXOIV
Answer Key : D Your Response : B (Wrong)

Question No. 28

= [AET T /S TOrr A HfAr 3 wmer: 20 48 dlv 38 I fAuanfaa v av 12 41 adlw



29 AY FTar &l
A) 727 B) 713

C) 720 D) 187

Find the smallest number that leaves the remainder 13, 41 and 29 on being divided by 20, 48
and 36 respectively.

A) 727 B) 713
C) 720 D) 187
Answer Key : B Your Response : B (Correct)

Question No. 29

B & s d¢ T A.JI(LCM) &
A) 3t FT AFI(HCF) / &1 &l A.FIG(HCF) B) Ul &l A.FTI(HCF) / &1 &l I.T.9(LCM)

C) 3ielf & F.FA(LCM) / & F FFI(LCM) D) 37t & F.8.9(LCM) / & T A.F.9(HCF)

LCM of a set of fractions is:
A) HCF of numerators / HCF of denominators B) HCF of numerators / LCM of denominators
C) LCM of numerators / LCM of denominators D) LCM of numerators / HCF of denominators

Answer Key : D Your Response : B (Wrong)

Question No. 30

R & 7T NPT Fal 3c9e= gt &7
A) vufsed B) H®U Aol
C) fawelr D) %

Where in the body are blood cells produced?
A) Appendix B) Bone marrow

C) Spleen D) Heart

Answer Key : B Your Response : B (Correct)



Question No. 31

Fid Hr T2 F ACIHA YR & YT & I Fe0a fhwor Hr ei?

A) erag fRtor wa a3mufaad ol arfces B) fHeta foeor, smafaa fReor & 90 o &
gier gl HIOT I B &l

C) 3mafdd foRor foem faaifd gu fawer Selr D) foela fomvor smafaa foeor & FamamaR gl
£ 3R foeTg foor, mafad foor & @A e gl
gialr &

How will the emergent ray be after refraction of light through a glass slab?

A) The emergent ray and the incident rays B) The emergent ray is at 90 degrees to the

are random incident ray

C) The incident ray goes without deflection D) The emergent ray is parallel to the incident

and emergent ray is same as incident ray ray

Answer Key : D Your Response : A (Wrong)

Question No. 32
fefaf@a & @ Fia a1 v AR g 2

A) "equff gier (Pitcher plant) B) IH & T
C) d=I wes-Su D) &sg

RN

Which of the following is a carnivorous plant?

A) Pitcher plant B) All of the options
C) Venus fly-trap D) Sundew
Answer Key : B Your Response : C (Wrong)

Question No. 33

T Al 3 G WG A 20 ¥ F A B 6T ¥ q G A Y, IR Al B adA AT g
o el grelr| O <hr Y fRce &7

A) 15 a¥ B) 10 ay
C) 12 a¥ D) 8 @y



A mother and daughter differ in age by 20 years. Five years hence daughter's age will be half
her mother's present age. How old is the daughter?

A) 15 years B) 10 years
C) 12 years D) 8 years
Answer Key : B Your Response : B (Correct)

Question No. 34

RfET # 9 5 "ShafReAT Fr Fa" AT SAdr g2

A) TITEIH B) e faifasra
C) olheex D) 3%&Ed

a

Who is considered as "The father of Biology" ?

A) Leeuwenhoek B) Carolus Linnaeus
C) Lankester D) Aristotle
Answer Key : D Your Response : D (Correct)

Question No. 35

R G goreT & fhw & @ wefta €2
A) T B) Hafia
C) e D) &feex

With which of the following fields is Munshi Premchand associated?

A) Dance B) Music
C) Painting D) Literature
Answer Key : D Your Response : D (Correct)

Question No. 36

faf@a Aot & e g&r aa fifSv)




A) 182 B) 54

C) 110 D) 20

Find the wrong number in the following series.

2, 20, 54, 110, 182

A) 182 B) 54
C) 110 D) 20
Answer Key : B Your Response : Not Answered

Question No. 37

T AT BT aF HieT A ITEAT § WA UgHAT qUICHAT I5eael gie €, STel WgAT AR A ereiEr qu
JelTeIT g 872

A) 3edieR dg B) 9ot =%

C) ¥4 =g D) 3tHTEET

Which is the phase of the moon which is a full bright view of the moon, where the moon is
almost perfect round in shape?

A) Gibbous moon B) Full moon
C) Crescent moon D) New moon
Answer Key : B Your Response : B (Correct)

Question No. 38

39t 0T T AT (sine) 3 3TaceT HIOT A FAT (sine) F H[UTT T FAT FgT ST 67
A) YIRERdE(Transparency) B) YR gaehieh(Translucent index)
C) 3Mgadsie(Refractive index) D) 3MRERIan(Opacity)

What is the ratio of sine of angle of incidence to the sine of the angle of refraction called?

A) Transparency B) Translucent index



Answer Key : C Your Response : C (Correct)

Question No. 39
Ifg 'NOR' &I 2-3-6 for@r Sirer &, dF 'REST' & & for@r Sem?
A) 6-18-5-8 B) 6-19-7-8

C) 6-19-6-7 D) 5-19-5-8

If 'NOR' is coded as 2-3-6, then how should 'REST' be coded?

A) 6-18-5-8 B) 6-19-7-8
C) 6-19-6-7 D) 5-19-5-8
Answer Key : B Your Response : B (Correct)

Question No. 40

Q@ D fr :ar @ gl Bl
A) THdAT B) s{tsdr
C) g@r T D) Al

Deficiency of vitamin D causes-

A) Scurvy B) Beriberi
C) Rickets D) Kwashiorkor
Answer Key : C Your Response : D (Wrong)

Question No. 41

AAa R F ST H IS Tel drell GG o6l g8y T FAT oI1H g7
A) TIFRE B) $re

C) fa¥der D) WISl

What is the name of the longest bone found in the thigh of a human body?

A) Humerous B) Femur

—~ e . _— —



Answer Key : B Your Response : B (Correct)

Question No. 42

=l & HHOT ¥ 39T Th HHT Jollfe &l
A) FTeT e AR S EEr B) rem 3R SieT
C) ®sr 3R ST D) R arer 3R Aer &sr

Mule is a hybrid derived by crossing -

A) Female donkey and a male horse B) Donkey and zebra
C) Horse and zebra D) Male donkey and a female horse
Answer Key : D Your Response : D (Correct)

Question No. 43

TSP I AT hHlh AT 872
A) 14 B) 12

C) 16 D) 18

The atomic number of sulphur is-

A) 14 B) 12
C) 16 D) 18
Answer Key : C Your Response : C (Correct)

Question No. 44

g & FlT o quF T FAE &7
A) 8 + 2 B) 6+5
C) 18 - (2 x 9) D) (-6) + (-2)

Which of these is NOT a whole number?
A) 8+2 B) 6+5

Y 12 _ (D x O) DY /LR = (D)



Answer Key : B Your Response : B (Correct)

Question No. 45

a8 O ¥ DI T80 AT fIfeT, 5T 8, 12, 18 ¥ Ao ey W &HA: 6, 10, 16 AW
T B

A) 70 B) 74

C) 146 D) 144

Find the least number when divided by 8, 12, 18 leaving remainders 6, 10, 16 respectively.

A) 70 B) 74
C) 146 D) 144
Answer Key : A Your Response : A (Correct)

Question No. 46

AT R FT FisT /T 37T TTHIAT & T B 82
A) T&d B) el

C) I& D) 3@

Pl

Which organ of the human body is affected by glaucoma?

A) Liver B) Ears
C) Kidneys D) Eyes
Answer Key : D Your Response : C (Wrong)

Question No. 47
Y & X & qq & @I g, 3R Z S X F SIor # 1@ I g1 Y & qoer Z iR = g?
A) 3cR qd B) af&or g
C) afaror uf¥es D) 3eerR uf¥es

Y is placed to the east of X, and Z is placed to the south of X. What is the direction of Z with
respect to Y?



C) South west D) North west

Answer Key : C Your Response : C (Correct)

Question No. 48

P, Q 3R R t& Woee FI HoRe: 8, 6 AN 12 Rl 7 3¢ W §1 W9 A Yoaia Jeer et
P 3R Q & @/ gl 8, g &7 Q 3R R, WY a7 R 3K P & & 3 4 oe 3mr
FH FA G &1 Woige o =t F g gem?

A) 34/7 e B) 27/7 feaT

C) 29/7 f&=1 D) 22/7 f&aT

P, Q and R can do a project in 8, 6 and 12 days respectively. The project is started with P and Q
working on day 1, Q and R on day 2, R and P on day 3 and so on. In how many days will the
project be completed?

A) 34/7 days B) 27/7 days
C) 29/7 days D) 22/7 days
Answer Key : B Your Response : Not Answered

Question No. 49

31507 I 31, el <l 31 I 150% &1 =g I 31, 30T T 3T T 120% g1 IS 301, arelr
3R dg Fr FT AT T.86000 T, A dg A 3T AT FFSC

A) ¥.36000 B) .34000

C) %.30000 D) %.32000

Arun's income is 150% of Bala's income. Income of Chandru is 120% of the income of Arun. If
the total income of Arun, Bala and Chandru is Rs.86000, then what is the income of Chandru?

A) Rs.36000 B) Rs.34000
C) Rs.30000 D) Rs.32000
Answer Key : A Your Response : A (Correct)

Question No. 50




A) 1950-55 B) 1956-61

C) 1951-56 D) 1952-57

What was the duration of the second five year plan?

A) 1950-55 B) 1956-61
C) 1951-56 D) 1952-57
Answer Key : B Your Response : B (Correct)

Question No. 51

fAmfaf@a sy #F eare @ g¢ 3R AT RE v wa & 3o/ &

P, Q R, S 3R T @ & 3K I 3rerRT 3@ RIS AR, dFqds, SRR, 9_T 3R Eiee
& 3TN FT &1 FT FRI & T oA, Thg, A, orer AR & &, AfheT w0 787 o o3 v &
?L#wﬁwamuﬁfraﬁ%l

ii) Q F 9T TS LT Hr 9T g

i) R & 9rF ell SR §, olfehel ARSI sTel|

V)T & 9 T Fell FR &, 3 7 o Fadent § 3K 7 & PR

v) SaF 9T gl FR & o AU FT SHART WA &l

YElee T T FAT &7
A) e B) &
C) u%g D) el

Read the following information carefully and answer the question given below.

P, Q, R, S and T are friends, and they use different cars—Maruti, Volkswagen, Jaguar, Porsche
and Renault. Colours of these cars are—blue. white. black. red and areen. but not necessarilv



in the same order.

i) P has an Renault, but it is not green.

ii) Q has a red colour Porsche.

i) R has a blue car, but not Maruti.

iv) T has a black car, which is neither Volkswagen nor Jaguar.
v) Those who have green car use Volkswagen.

What is the colour of Renault?

A) Black B) Green
C) White D) Blue
Answer Key : C Your Response : Not Answered

Question No. 52

BHIM &7 qot &7 R 87
A) #RA ST BIR Hall B) #Rd SAIUiecad BR Fal
C) #RA SeIAMSTC B Hall D) ¥R sHIfSUeC B AT

What is the expansion of BHIM?

A) Bharat Interface for Money B) Bharat Initiative for Money
C) Bharat Intermediate for Money D) Bharat Immediate for Money
Answer Key : A Your Response : A (Correct)

Question No. 53

few o1 fBwedt # ® 7 ampla g9, S A R e e i oqu e
anl




Choose from the alternatives the figure that best completes the

pattern given below.

A) B) @ 5 0O
C D

) ) O@ &

Answer Key : B Your Response : B (Correct)
Question No. 54

few 1w fasheat & ¥ EIA F G
A) ABA B) AIF
C) BBG D) AFI

Find the ODD one out from the aiven obtions.



A) ABA B) AIF
C) BBG D) AFI

Answer Key : C Your Response : Not Answered

Question No. 55

S8 U PleT Thhe @S 8T 872
A) d3e 3nfag arel B) &R &g
C) R. P. g D) feela gy

Who among the following is NOT a cricketer?

A) Syed Abid Ali B) Sardara Singh
C) R.P. Singh D) Dilip Doshi
Answer Key : B Your Response : D (Wrong)

Question No. 56

st & Fler @1 Aur B F @ e 82
A) TRET ot & Sfom3it @ AET A oo & B) TR ol ar oI T R el e &
31fereR gierr & HH gl B

C) fondlt of ar oom3il &1 AT NE oM & D) HIUW T Trer gam 180° gielr &
S e ¢

Which of these properties does NOT hold good in a triangle?

A) Sum of any two sides is greater than the B) Difference of any two sides is less than the
third side third side

C) Sum of any two sides is equal to the third D) Sum of the angles is 180° always
side

Answer Key : C Your Response : C (Correct)

Question No. 57

FDI &7 qof &9 & §?



C) B SRRFC SedtcHc D) %ster fBuifoic S=a¥cic

What is the full form of FDI?

A) Federal Domestic Index B) Foreign Domestic Index
C) Foreign Direct Investment D) Federal Deposit Investment
Answer Key : C Your Response : C (Correct)

Question No. 58

uF faRad gesmwr , afy 'TREE' #r 7100 for@r sar &, 'FROG' #r 2159 for@r aer g, 3¢
FeHT ¥ 'FREE' # % forar smdem?

A) 1002 B) 2100

C) 3100 D) 1003

In a certain code, if 'TREE' is coded as 7100, 'FROG' as 2159, how is 'FREE' coded in that
code?

A) 1002 B) 2100
C) 3100 D) 1003
Answer Key : B Your Response : B (Correct)

Question No. 59

TR Tfafesd T gl
A) Tt & FFd 100% Thafesw e B) a3 Tfafed 31Fd
C) Wil tfafesd 3o D) I whafew e

Glacial acetic acid is-

A) 100% acetic acid free of water B) Solidified acetic acid
C) Frozen acetic acid D) Gaseous acetic acid
Answer Key : A Your Response : A (Correct)

Question No. 60




* & TAT 9T FIAT 3TTIN?
(7 x 7)3 + (49 x 7)3 x (2401)2 = 7=

A) 5 B) 3

C) 7 D) 8

What comes in the place of *?
(7x7)2+(49x7)x (24012=T7*

A) 5 B) 3
C) 7 D) 8
Answer Key : A Your Response : C (Wrong)

Question No. 61

2019 ¥, fa=er 3maRa aREAe=ET F facauivor & AT HRD #HFe c@rT Arfaf@d # &
et A AT YE T 7S A7

A) NRP B) STARS

C) NPTEL D) RUSA

In 2019, which of the following schemes was launched by HRD Ministry to fund science

projects?
A) NRP B) STARS
C) NPTEL D) RUSA
Answer Key : B Your Response : Not Answered
Question No. 62
e 3R SiRAE @ 9% Yomelr #H g% U3 T 39ART Frafaw fRar shar 87
A) GYUT @I deld & fou B) fS&d algeT 31Uait 1Ty &l Uk o Teh

C) A8l & THh HAW IMd T AT Wl & D) VNI FI FA Flod & folU
o

Using brake pads in the brake system of bicycles and automobiles is for what pupose?



movement

C) To keep the vehicle moving with uniform D) To decrease friction

speed

Answer Key: A Your Response : A (Correct)

Question No. 63

Rar Tt & wor AR qF A R 10 B w@Efra ol a8 T a8 3R g5 10 Rl
asfeher Temam X TR a1$ 3R 3T 20 Rl wsfeher Temam 3R g 'A' W uganl Tge § fig
'A' dF IS fhdel fRaideY asfhe Tari?

A) 40 frsr B) 20 faafr
C) 30 fFar D) 10 fsfr

Siva left school and cycled 10 km towards east. He then turned right and cycled 10 km and
turned left and cycled 20 km and reached point 'A’. How many kilometers should he cycle from
the school to point 'A'?

A) 40 km B) 20 km
C) 30 km D) 10 km
Answer Key : A Your Response : C (Wrong)

Question No. 64

AT qTeT & R FS AT qererT 2.5 9§ 7 £.15000 31K 4 9§ & %.16500 & 1w g1 AT
X A FfS|

A) 9% B) 8%

C) 6% D) 7%

A certain principal amounts to Rs.15000 in 2.5 years and to Rs.16500 in 4 years at the same
rate of interest. Find the rate of interest.

A) 9% B) 8%
C) 6% D) 7%

Answer Key : B Your Response : Not Answered



Question No. 65

g@ =Iqafer #, sin 0 @ AT fFES & gar 87
A 13 -1 B) 1&0

C) 0% -1 D) -1 3 1

In the second quadrant, sin 0 varies from:

A) 1to-1 B) 1t00
C) Oto-1 D) -1to1
Answer Key : B Your Response : B (Correct)

Question No. 66

30 FeT & 999 &I, A AHid F 99 e (7) & T W W
S % o wafeas 397w 2l

5 8
A A
3 2 1 5

A) . B)

0 D)

40 38




Choose the alternative that best replaces the question mark(?) in the

given figure.
3] 8
20 26
3 2 1 5
A B
) 32 ) 35
0) D)
40 38
Answer Key : C Your Response : Not Answered

Question No. 67
SITAT 0] T SNV Fefad Alse Frash qarT wedfad frar s ar?
A) T B) dicHeT 3R T

C) |t D) siReTear

Double helical model of DNA molecule was proposed by -

A) Khorana B) Watson and Crick
C) Morgan D) Nirenberg
Answer Key : B Your Response : B (Correct)

Question No. 68

forelr efew & forelt &g 1 G FeT ©.2000 &, AR & 20% 3R 10% & FARME gei T I
ST T 81 S g fhr Hoa wir hifaw)

A) 2.1700 B) %.1440

C) %.1400 D) %.1520



The list price of an article at a showroom is Rs.2000, and it is being sold at successive
discounts of 20% and 10%. Find its net selling price.

A) Rs.1700 B) Rs.1440
C) Rs.1400 D) Rs.1520
Answer Key : B Your Response : Not Answered

Question No. 69
Macisrel A S| FHIS T §?
A) &S (Hz) B) #HeX (m)
C) s (s) D) feemmanm (Kg)

What is the Sl unit of time period?

A) Hertz (Hz) B) Metre (m)
C) Second (s) D) Kilogram (Kg)
Answer Key : C Your Response : A (Wrong)

Question No. 70

30 fowed & 999 &Y, A ATHid H FoT e (7) & T W W
A % T Hafeas 39T &l

4 6 8
3 5 5
7 011 ?
A s B)
39
) D)



37

Choose the alternative that best replaces the question mark(?) in the

given figure.
4 6 8
3 5 5
7011 @
A B
) 15 )
a8
0) D) 12
a7
Answer Key : B Your Response : A (Wrong)

Question No. 71

Tfaf@d IR FF &I § 9¢ 3R A RE 31w 9*sT Fr 3ca) &I

TH ST & GRIA, Th O Tl oI gl W & faT, R & Z a% (a5 3R asfrar &
fRoon) 9 St Fr TR W 9T H WS AT TS 1 SR A Fren A€ Teell g% § IR
asfrl & ahg &€ wge W Bl 9fFd MY & abhg e F Wy gF @ g 95 iR
=R 9fFT F Tiadr ¥ @2 A §1 9T F v W W Faa ve Afda & @S & g
gl



) R, S & UId T 9gX WIT ¢l
ii) T Thg d-er€ T B

iii) T % a1g g@wr @5 U 3l

iv) 4fFd F 9t T WV @3t
v) W, R & 3 @z &

vi) X, T 3iR R & & & @sr gl

vii) Z we agdr B

F=faf@a § & i T 3k Z & &= @sr 87
A) U B) Y

C) S D) V

Read the following information carefully and answer the question given below.

During an event, a game is being played. For the game, 9 people from R to Z (mix of boys and
girls) have to stand in a vertical row. Boys are wearing black t-shirts and girls are wearing white
t-shirts. The row starts at top and with a white t-shirt. Boys and girls stand alternately in the row.
Each position in the row can be occupied by one person only.

i) R stands seven places before S.

ii) Third white t-shirt is T.

iii) Second boy after T is U.

iv) Fourth place in the row is occupied by V.

v) W stands ahead of R.

vi) X stands between T and R.

vii) Z is a girl.

Who among the following stands between T and Z?



C) S D) V

Answer Key : B Your Response : Not Answered

Question No. 72
famT 7 & 5 a1y At "ol T w18 o7 vgr e g2
A) erAE B) 3w
C) 3ccall Fier D) 3t&=d

Which of the following rivers is also known as the 'River of Sorrow?"'

A) Damodar B) Auranga
C) North Koel D) Amanat
Answer Key : A Your Response : A (Correct)

Question No. 73

A) B)

o]
i
o
=1
S
o

0 D)

[l
Sy
=1
Ot
Sy
-3




Simplify: T%+1 L_ X i
b 35 3D

A) B)
315 15
) D)
3/7 W
Answer Key : A Your Response : A (Correct)

Question No. 74
2020 F G20 RIET FFAT I ASEET el dlel 820 @FT & T HieT &1 &2
A) SdTeT B) USA

C) #Rd D) 3¢ 3R

Which of the following countries is to host the G20 summit in 20207

A) Japan B) USA
C) India D) Saudi Arabia
Answer Key : D Your Response : Not Answered

Question No. 75

Fid el F FAT R W §, SafH @y A Hrer g7 S 32

A) Pk T el FI &THAT & HROT B) &l T THTT ol 9Tl & HRU]

C) 3<% ®AT H HR & HROT D) 3Teh Helcd H 3 & HIROT

Wihir Aana A Aaarvl, flant in aamtar adaila Aan iram naill ainl-aD



A) Due to the cork's floating capacity B) Due to the same force acting on both
C) Due to the difference in their forms D) Due to the difference in their densities

Answer Key : D Your Response : D (Correct)

Question No. 76

(0.23)° +(2.33) +(23.33)°

e R \flza (23.3) +(235.3)"

A) B)

1/100 100

0 D)

0.1 10

(2.3) +(23.3) +(233.3)’

Simplify: {(0.28) +(2:33) +(23.33)

A) B)

1/100 100

o) D)

0.1 10




Answer Key : D Your Response : Not Answered

Question No. 77

ae  (375%x375)+ (125 x125)-(375%125)
ATA BT, L T
(375x375%375)+(125%125%x125)
A) B)
1/3 171000
C) D)
500 1/500
Simyplify: (375%375)+ (125 X125)-(375x125)
(375x375x375)+(125%x125%125)
A) B)
1/3 1/1000
C) D)
500 1/500

Answer Key : D Your Response : Not Answered



Question No. 78

Fher W G M BT AT FE A A ¥ QO

gsdiel ; 7 :: Wies BT : ?
A) 13 B) 7

C) 14 D) 11

Which number will best complete the relationship given below?

Handball : 7 :: Field Hockey : ?

A) 13 B) 7
C) 14 D) 11
Answer Key : D Your Response : Not Answered

Question No. 79

100 #Hiex 3R 120 Hiex &t &Y YeEnEAT Faer: 18 AeyAss 3R 15 HeyAHs A I T TH
GEY I TG Tl §1 Fra §7F & 9 T gEy FT 9N HEM?

A) 7.2 TFs B) 10 O3
C) 6.7 T$s D) 8 ¥%s

Two trains 100 m and 120 m in length are moving in opposite direction, with speeds 18 m/s and
15 m/s respectively. In what time will they cross each other?

A) 7.2 seconds B) 10 seconds
C) 6.7 seconds D) 8 seconds
Answer Key : C Your Response : Not Answered

Question No. 80

FIfaf@d & O 5 2019 #H $IRT T ¥ TFAlaa ham ar=m ar?
A) FIAET [&E B) siig HIr




C) wurel HE@eif D) L. K. 3mEarof

Who among the following was awarded with the Bharat Ratna in 20197

A) Manmohan Singh B) Narendra Modi
C) Pranab Mukherjee D) L.K. Advani
Answer Key : C Your Response : C (Correct)

Question No. 81

fAfaf@d 7 & i A& wher 3gfcd Hr eafer 872
A) e B) e

C) tafer &I fawdr ar aqor D) &Y

S

Which of the following is the sound of single frequency?

A) Note B) Noise
C) Timber or quality of sound D) Tone
Answer Key : D Your Response : A (Wrong)

Question No. 82

7% A TS i &7 9T YR off 35 FS YR W 2 a¥ 7 ok arar JYRT s34+, $.1750
$r AR W 5% a1fi¥er T W 4 a§ # TR arelr arel TR F AR g1 98 TR 71T Hhfdwl

A) %.1800 B) %.2400

C) %.2500 D) %.1600

A sum lent at 7% per annum will produce as much Simple Interest in 2 years as Rs.1750, lent
at 5% will produce in 4 years. Find the sum.

A) Rs.1800 B) Rs.2400
C) Rs.2500 D) Rs.1600
Answer Key : C Your Response : Not Answered

Question No. 83




dr AT § AT FT QTG ‘ab' H Jorelr # et wfaerT gham?
A) 110% B) 80%

C) 88% D) 120%

A rectangle has a width 'a' and length 'b". If the width is decreased by 20% and the length is
increased by 10%, then what is the area of the new rectangle in percentage compared to 'ab"?

A) 110% B) 80%
C) 88% D) 120%
Answer Key : C Your Response : C (Correct)

Question No. 84

faefaf@a & @ @l I queor gweis F1 39k T § o F et F quaeor F Qo B
T HFe §2

A) arsdeoT B) TeehId qerehior
C) 9T 3maasT D) fedes

Which of the following separation techniques can be used to separate iron pins from sand?

A) Evaporation B) Magnetic separation
C) Fractional distillation D) Filtration
Answer Key : B Your Response : B (Correct)

Question No. 85

12 QY S[oT AT U B Hel N ST AT dTe) 3T BIE TAl & T 7 FeT AT g1 B T
I SpeT AT el

A) 1.5 @ B) 4 @&
C) 6 ¥ D) 3 3

A solid cube of side 12 cm is cut into eight smaller cubes of equal volume. The side of the small
cube will be:

A) 1.5cm B) 4cm



C) 6cm D) 3cm

Answer Key : C Your Response : C (Correct)

Question No. 86

Y FeFEeT 7 AT, T gotg @ 3T &
A) sTCBRen 3 B) uifAfes 3t&r
C) RN 3Fdl D) SuigeHh 37Fd

The foul smell of rancid butter is due to-

A) Butyric acid B) Palmitic acid
C) Stearic acid D) Caproic acid
Answer Key : A Your Response : Not Answered

Question No. 87

3 T H, TH FYT & G el fashd QU 1w | 37 Ashst 1 e, St e §9 @ waiftS
39geFd gl

GG

LsR<M<N<K

sy
. L<N
. K>M

M. R <N
A) gl sy 3ugerd gl B) #de sy Il 3uged Bl
C) FHao Ay | Iudaea T N\ hasr msay | suagaa &



In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
LER<M<N<K

Conclusions:
.LL<N
I.K>M
l.R<N

A) All conclusions are true B) Only conclusion Ill is true
C) Only conclusion Il is true D) Only conclusion | is true

Answer Key : A Your Response : A (Correct)

Question No. 88
ar 9R faee fAaE Sl arel 9gel SR $iRicclers (defawre) Hla 872
A) FoRTAT ST B) TTaET Tle]
C) HuTH Heoreadl D) AT irgr

Who is the first Indian weightlifter to win the World Title twice?

A) Kunjarani Devi B) Sanamacha Chanu
C) Karnam Malleswari D) Sumita Laha
Answer Key: C Your Response : Not Answered

Question No. 89

‘TiecIAfesd v dIFR § S F TS Fa 2l
A) =TT B) &R
C) 3@ D) &g

'Astigmatism’ is a disease which affects -

A) Ears B) Legs



C) Eyes D) Heart

Answer Key : C Your Response : Not Answered

Question No. 90
Prfaf@a & ¥ Fa a1 F-weAvE 3] F v e §?

INEGIES G B) 3N
C) gssieleT D) 3ifergleteT

Which of the following is an example of a triatomic molecule?

A) Nitrogen B) Ozone
C) Hydrogen D) Oxygen
Answer Key : B Your Response : B (Correct)

Question No. 91
ARG & AT Fdias gEa & AR ST R §2
A) Tsgafd B) 3Wrsgafd
C) R & HEY =araredier D) ShaT 37ET8T

Who appoints the Chief Election Commissioner of India?

A) President B) Vice-President
C) Chief Justice of India D) Leader of Lok Sabha
Answer Key: A Your Response : A (Correct)

Question No. 92



=

TT AHET o TorT ATTEFERT sl TOTAT Tl

F AT EIH | 10-14 | 15-19 | 2024 | 25-29 | 30-34 | 35-39
s i 5 10 15 20 10 5
GEEEN
A) B)
12.33 20
Q) D)
96.4 925.13
Calculate the median for this data.
Dailyincome | 15 44 | 15 19 | 2024 2520 | 30-34 | 35-39 |
in Res. | |
No. of workers 5 10 15 20 10 5
A) B)
12.33 20
®) D)
26.4 25.13




Answer Key : D Your Response : Not Answered

Question No. 93

fefaf@d # @ FlaT & TR o oA F T Aq1?
A) 3Footel B) ahierer
C) urefergy D) ahreft

o]

Which of the following cities was the capital of Guptas?

A) Ujjain B) Kosala
C) Pataliputra D) Kasi
Answer Key : C Your Response : Not Answered

Question No. 94

T el g9oT AR TF gaer Mol o, S Fr Piwer g -10 {r g1 gfor 3R oW F e
YHR & glet T HATTAT 87

A) TUUT 3cdd g 3R o Jade g B) &Il 3cdel
C) al=il 3faddl D) &uur 3add g 3R o F 3cdd gl

A spherical mirror and a thin spherical lens both have a focal length of -10 cm. The mirror and
the lens are likely to be-

A) The mirror is convex and the lens is B) Both convex

concave
C) Both concave D) The mirror is concave and the lens is
convex
Answer Key : C Your Response : A (Wrong)
Question No. 95
&R TG 7 aa gl
INBGEEIG B) #&

C) %sa D) @eg




Bases are in taste.

A) Salty B) Sweet
C) Bitter D) Sour
Answer Key : C Your Response : C (Correct)

Question No. 96

ar o9 P 3R Q, U i STl arell AT & Tl fhaRt o Rue &Y figsit X 3R Y & waer: Y
3R X #Fr IR e g A g1 T By X & 340 A A g W A § 3R 3w 3w A
T & T 3R god §1 T0h 918 d TN arqw Hr AT H gE HAR YL F 170 HieT Fr @
R A &1 7 $r Oz frae §2

A) 1.5 Rl B) 1 fFshr
C) 850 #ex D) 400 X

Two men—P and Q start from two points—X and Y on opposite banks of a still river towards Y
and X respectively. They meet at 340 m from one bank 'X' and proceed on their respective
onward journey. After that they meet at 170 m from the other bank "Y' on their return journey.
What is the width of the river?

A) 1.5km B) 1km
C) 850 m D) 400 m
Answer Key : C Your Response : Not Answered

Question No. 97

'R F 5 @ FAar g, 'L’ 1 @r sar g, 'N' & 6 fo@r Sar §, T & 2 fo@r S g,
VR 8O@ Sar g, 'F & 3 o@r Sar g, 'S' & 4 for@r srar g, 'I' /& 9 f@r aar §, 34}
'G'HI 7 for@r Sirar &, dr 425967 fREs T foEr Sdem?

A) STRING B) SITRNG

C) SRTNIG D) TRINGS

If 'R'is coded as 5, 'L' is coded as 1, 'N' is coded as 6, 'T' is coded as 2, 'U' is coded as 8, 'F' is
coded as 3, 'S' is coded as 4, 'l' is coded as 9, and 'G' is coded as 7, what is the decoded form
of 4259677

N ———a e~ _— o~ rem—r—a o~



C) SRTNIG D) TRINGS

Answer Key : A Your Response : Not Answered

Question No. 98

Rw v Rwedt F & 3T F A
A) KML B) SUV
C) MOP D) GIJ

Find the ODD one out from the given options.

A) KML B) SuV
C) MOP D) GIJ
Answer Key : A Your Response : Not Answered

Question No. 99

YeRIRT 39 BX & qd fRm v 3K 50 X 3R A a1$ 3K Azt 20 e glsar &1 R ¥ 7%
1§ R FFF 30 A dlsar 7 M T & 91 3R FgH 20 AR ghsar § 3K Bg A @
ygar ¥l Rig A & =X St Wrel g el 22

A) 30 #Hrex B) 20 #ex
C) 10 #rex D) 40 #ex

Prakash runs from his home towards east direction for 50 m and then turns left and runs for 20
m. Again he turns left and runs for 30 m; and again turns left and runs for 20 m to reach point
'A'. What is the distance from the point A to is home straight?

A) 30m B) 20m
C) 10 m D) 40 m
Answer Key : B Your Response : Not Answered

Question No. 100

AR SAHAT TEART Fr ARG FH H Iafeyd ffSw|




0.21, 0.021, 0.201, 0.102
A) 0.021, 0.21, 0.201, 0.102 B) 0.21, 0.021, 0.201, 0.102

C) 0.21, 0.201, 0.102, 0.021 D) 0.21, 0.201, 0.021, 0.102

Arrange the following decimals in descending order.

0.21, 0.021, 0.201, 0.102
A) 0.021, 0.21, 0.201, 0.102 B) 0.21, 0.021, 0.201, 0.102
C) 0.21,0.201, 0.102, 0.021 D) 0.21, 0.201, 0.021, 0.102

Answer Key : C Your Response : Not Answered



